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WOMEN STUDIES
Paper — 111

Note : This paper contains seventy five (75) objective type questions of two (2) marks each.

All questions are compulsory.

Which of the following is NOT a

characteristic of Feminist Theory ?

(A) Feminist Theory treats women
as the central subject of
investigation.

(B) Feminist Theory promotes
activism on behalf of women.

(C) Feminist Theory is
multicultural in orientation.

(D) Feminist Theory advocates a
linear understanding of the
historical experiences of women.

What is central in the different

approaches of feminism ?

I Women and their existential
situation as central to social
progress.

ii. In all historically recorded
societies, men appear to have
absolute power over women.

iii.  Existential state of women can
be changed.

iv. ~ Women will never be released
from the clutches of age-old

slavery.
Codes :
(A) i, ii,iiiand iv
(B) i, iiandiii only
(C) iionly

(D) iandiii only

Which of the following
acknowledges that women
experience oppression in a variety of
ways according to class, race,
ethnicity, region and  sexual
preference ?

(A) Cultural materialism

(B) Intersectionality theory

(C) Socialist feminism

(D) Liberal feminism
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feminists seek to expand the
rights of women through legislation.
(A) Radical (B) Liberal
(C) Socialist (D) Capitalist

Androgynous persons show

traits.

(A) Positive masculine and
feminine

(B) Negative masculine

(C) Positive feminine

(D) Positive masculine

‘Nature’ as the ‘Feminine Principle’
— is reflection of ideas from which
feminism ?

(A) Postmodern feminism

(B) Marxist feminism

(C) Eco feminism

(D) Liberal feminism

Mark the correct answer about

Women’s Studies from the following :

I. It is narratives of women by
women.

ii.  Itisa Social Science.

ii. It is collection of Studies on
Women issues.

iv. Itis anacademic discipline.

Codes :

(A) iiiandivonly

(B) iiandiii only

(C) ivonly

(D) iiandivonly

When a researcher assumes a role in
the group under study and maintains
a low profile as observer is known as
(A) Observation

(B) Non-participant observation

(C) Quasi-participant observation
(D) Participant observation
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10.

What among the following does
make the first Women’s Studies
Centre in India an unique one ?

I Direct concern of UGC for the
establishment of the Centre.

ii. It was started in a Women’s
University.

iii It was initiated by the
University itself.

iv. UGC saw the centre as an
adjunct to Women’s Education.

Mark the correct answer from the
codes given below :

Codes :

(A) i,iiandiv
(B) i, ii,iiiand iv
(C) ivonly

(D) iiandiii only

Write the descending sequence of the
Feminist Movement in the world
relating to the Adult Franchise.
Match the List — | with List— 11 :

List— 1| List— 11
(Countries) (Movement)
(a) Britain i. Second wave

feminism
(b) United ii. National
States of Freedom
America Movement
(c) India iii. Quaker
Movement
(d) French iv. Suffrage
Movement
Codes :
@ () (¢ ()
(A) i I v
(B) iii v i i
(C) iv il i [
(D) i I v il
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11.

12.

13.

14.

Match the List — | with List—11 ;

List—1 List— 11

(@) Action i. Questionnaire
Research

(b) Qualitative ii. Planning and
Data Launching

Programme

(c) Exploratory iii. Analysis of

Research Insights

(d) Quantitative iv. Oral History
Data

Codes :

(@ () () (d)
(A) Qi iv i i
(B) i i v i
C) i I iv i
(D) i v i i

Which one of the following is not a
bar diagram ?

(A) Broken Bars

(B) Histograms

(C) Pie-Diagrams

(D) Deviation Bars

The year 1961 in India was famous
for passing an Act for

(A) Punishing rapist
(B) Banning female foeticide

(C) Prevention of Domestic
Violence

(D) Prohibition of Dowry

Which State has the lowest child sex
ratio ?
(A) Haryana
(B) Punjab
(C) Gujarat
(D) Rajasthan
S-74-13
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15.

16.

17.

Which of the following statements
regarding the Parliamentary
Committee on Women are correct ?

I The members of the Committee
are nominated by the Minister
for Women and Child
Development.

ii.  The Minister for Women and
Child Development is the ex-
officio member of the
Committee.

iii. The Committee has members

from both the Houses of
Parliament.

iv. The Chairperson of the
Committee is appointed by the
Speaker.

Codes :

(A) iandiv

(B) iiiandiv

(C) iandii

(D) iiandiii

Union Territory with lowest sex ratio
(A) Chandigarh

(B) Delhi

(C) Daman and Diu

(D) Pondicherry

Write the sequence of the following
Acts in descending order :

I. The Pre-conception and Pre-
Natal Diagnostic Techniques
Act.

ii.  The Factories Act
iii.  The Maternity Benefit Act
iv.  The Immoral Traffic Prevention

Act
Codes :
(A) i, i, diiand iv
(B) i, iv,iiiand i
(C) iii,iiivand i
(D) iv,iii, iandi
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18.

19.

20.

Match List — | with List =11 :

List— 1 List—11

(Schools of (Ideologies)

Feminist
Thought)

(a) Socialist 1. Resistance to
heterosexual
relationship

(b) Liberal ii. Economic
Independence

(c) Marxist iii. Right to vote for
women

(d) Radical iv. Attack on bourgeois
morality

Codes :

@ ® © @

(A) i I v il

(B) i i v [

C) i il i iv

(D) i i v i

Identify the reasons for the existence of

wage gap between males and females :

I. The education level of employed
women has been lower than that
of employed men.

ii.  Women’s stock of human
capital is high.
iii. Women are specialised in

traditional skills.

iv. Women’s market skills decline
when they remain out of labour
force.

Codes :

(A) iandiiare correct.

©) i, ||| and iv are correct
(D) iii and iv are correct.

Arrange the following chronologically :

I. Declaration on the Elimination
of Violence against Women.

ii.  Convention on the Political
Rights of Women.

iii.  Declaration on the Protection
of Women and Children in
Emergency Armed Conflict.

iv.  Optional Protocol to CEDAW

Codes :

(A) i, il i, v (B)

(C) i, i, i, v (D)

i, 1, 1v, il
v, ii, 1, iii
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21. TAlI stands for
(A) Technology Achievement Index
(B) Technology Assessment Indicator
(C) Technological Average Index
(D) Technological Awareness Indicator

22. The purpose of providing education

to women is to

I. Enhance their self-image.

ii.  Enhance their knowledge for
marital success.

iii.  Enable them to think critically and
participate in decision-making.

iv. Enable them to play their
traditional role effectively.

Codes :

(A) i, ii,iiiand iv
(B) i, iiandiiionly
(C) i, iiiand iv only

(D) iandiiionly

23.  Which one of the following is a

disadvantage of Cluster sampling ?

(A) Variation of cluster size may
increase the bias

(B) It can cover large population
and large areas.

(C) Cost of this method is much less.

(D) It does not take more time.

24. Write the reasons for deficit of
female births.

I. Deficit of female births, deaths
from excess female mortality
due to son preference.

ii.  Poor institutions of public
health and service delivery
causes a heavy burden on girls
and women.

iii.  Poor sanitation and water supply.

iv. HIV/AIDS risks have
compounded the deaths of
women.

Codes :

(A) i, iiiand iv only

(B) iandivonly

(C) i, ii,iiiand iv only

(D) ii,iiiandionly
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25.

26.

27.

28.

29.

Who was the Founder of Social
Welfare Board in India ?

(A) Raja Ram Mohan Roy

(B) Durgabai Deshmukh

(C) Sarojini Naidu

(D) Saraladevi Choudharani

Who advocate the concept of
‘Comparable-worth  discrimination’
in relation to women’s work ?

(A) Treiman and Hartmann

(B) Krautand Luna

(C) Marshall

(D) Gary Becker

What is the correct expansion of

ICRW ?

(A) International Committee on
Research of Women

(B) International Centre for the
Research on Women

(C) International Conference on
Research of Women

(D) International Committee for
Research on Women

The life expectancy at birth for
females in low-income countries rose
from

(A) 45yearsto 70 years

(B) 50 years to 80 years

(C) 60 yearsto 67 years

(D) 48 yearsto 69 years

“Women now represent 40% of the
global labour force, 43% of the world
agricultural labour force and more than
Y of the World’s University Students’,
stated by which report ?

(A) United National Development

Report, 2012
(B) World Development Report,

2012

(C) Human Development Report,
2012

(D) Gender Development Report,
2012
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26.

27.

28.

29.

TG O GUST HodIol die 1 HEIH
BT ?

(A)  TST THHE TF

(B) FiTE Svr™

(C) wifsH! ATy

(D) TARE! THERT

AfeeTstt & & & Gay § H=fefad o
Y BF FRIA-Td eShifEeE Hl
THTIT T TeTeR & ?

(A) T qAT B

(B) 3hie T T

(C) uww

(D) TR aH

S T AN T 1 Tel o 1 & 2
(A) TS HHS A R AE

gAT

(B) ¥Rl AR wR f& frmd &
gAT

(C) FEvHA &ihd o Rad 3w
T

(D) FeEvEe HHS WR REd &
T

=1 o amet 3o ° feat % S &
TG Sl Y3l Set
(A) 4599 H 70 a9
(B) 50ad & 80 @y
(C) 60=d ¥ 67ay
(D) 4899 ¥ 69 a9

“Higeld oM Afvesh smaet & 40%,
favar & -9 & 43% Tq=AT 3T F
BT o Yo AT T AT AT 87, T8
forer are o et T 7 2

(A) FEET TWHA aaUHe RO,

2012

(B) dcs SaemIHe RS, 2012

(C) o SaeHe Ruie, 2012

(D) s SaeuHeE Ui, 2012
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30.

31.

32.

33.

Punishment for gang rape under

Section 376 D of IPC is

(A) Death Sentence

(B) Rigorous imprisonment for a
term not less than 20 years

(C) Rigorous imprisonment for a
term not less than 20 years but
which may extend to life,
meaning the remainder of that
person’s natural life.

(D) Rigorous imprisonment for a
term not less than seven years
but which may extend to
imprisonment for life and liable

to fine.
The institutional manifestations of
patriarchy can be seen in
i. Media
ii.  Medical health practices and
systems

iii.  Political process

iv. Government and
areas of control

Codes :

(A) iiandiii are correct.

(B) iiiand iv are correct.

(C) i, ii, iii and iv are correct.

(D) onlyiiis correct.

its various

Which Article of the Constitution
makes the Right to Education a
Fundamental Right ?

(A) Article 19 (B) Article 39
(C) Atrticle21 A

Identify the reason for feminization

of employment in global agriculture

from the following :

(A) A change from
crops to sericulture.

(B) A change from traditional
crops to horticulture,
floriculture, protein-rich meats
and processed foods.

(C) Achange in food markets.

(D) A change from traditional crops
to sericulture and multiculture.

traditional

Paper-111

(D) Article51 A

10

34.

35.

36.

37.

National Policy for Senior Citizens
was made in

(A) 2012
(C) 2011

(B) 2009
(D) 2013

Arrange the following chronologically :

I. SAARC convention on
Preventing and Combating
Trafficking in Women and

Children for prostitution.

ii.  Convention on the Nationality
of Married Women.

iii.  United Nations Convention on
the Protection of the Rights of

All  Migrant Workers and
Members of their Families.

iv.  Maternity Protection
Convention

Codes :

(A) i, ii, iii, iv

(B) i, iv, i, iii

(C) i, i, i, iv

(D) i, iii, ii, iv

Random sample technique is more
applicable if the target population is
(A) Homogeneous
(B) Heterogeneous

(C) Both Homogeneous  and
Heterogeneous

(D) Heterogeneous across set and
age only

The most essential step in making
interview, a successful method of
data collection is

(A) Appropriate interview schedule

(B) Arranging secondary
information on the topic of
research

(C) Establishing rapport with the
respondents.

(D) Having accurate  research
design
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30.

31.

32.

33.

YR g GiedT ot 9RT 376-9 & 3T
Afeeh TATHR o Tolw He=farad § &
FTATITE 2

(A) TIT=

(B) H ¥ HH 20 TY HT HAX HRIATT
(C) 9 ¥ &9 20 a H R
EdNEIESH W \‘Fil\’l(\lol"i EAREIEESED
ST ST TebelT €, TSRt acqd 30
e & T G AT D E |
FH T FH G g9 B FR
FHRTEE, = SASTaT BRI T
TR ST T & 3T I T AT
o ST T Hehell & |

(D)

gear & Gl et @ T
G T Gehell & ?

i. e

ii. Wfeshe @ a3 Tgid

iii. T ufskan

iv. TRHR AR T FN FEhd faf= e
E T4

(A) i R E |

(B) iii 3iivEEt € |

(C) i, ii, iii 3 iveE & |

(D) FEAii I |

Hiag™ & 9 STFe% o oFaia e

& IR i HifeTs ATUHRI | /=T T2

T 7

(A) 3 =319  (B) =% 39

(C) =g 2lt (D) 3F®T5LT

Frefefad & 9 afvas HT § TR0 &

SHIROT i TEa HifTT :

(A) URERE FHAT & HIV-HIE T
T 3 IR

(B) URWREF ®HAT H Hol AR,
3 Tt @l &t 31T aRad=

(C) GWRI IR B URee

(D) URTRE FIel & §HT HIV-PIC

qTet AT dgalet T oI

S-74-13
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34.

35.

36.

37.

RS ARG =T A it 9 oy
I ?

(A) 2012 (B) 2009

(C) 2011 (D) 2013

FEfIfad o HIOGhAER  Sared

FHIT

i. feEr iy s % 3E AR H
TFIH 3R oy TR e
(SAARC) Fa=H

ii. foenfead fear & T e
HAT

i, "W vERl R 3R
URART % ST % ATBRT B

iv. T G HAvH

FE :

(A) i, i, iii, iv

®) i, iv, i, iii

©) i, i, ii, iv

(D)

I, i, i, iv

Aqgegs AT Ao 3 3 o]
It & IS AT SHEEt €

(A) TSI

(B) fastei

(C) ¥ Ud fosd I

(D) et folrm = 31y & W ot

PR & [T qaitass 9 &, |
GUE o GEA & &
(A) SUFF HEATHR gt

(B) 3TEYM % faud W We™s® gan
T AT BT

(C) STRETATS & THIeh HIEAT
(D)  3FTHY UTEY I TEl g
Paper-111



38.

39.

40.

Match the List — | with the List - 11 :

List— 1 List—11
(a) Power-over i. Motivation
(b) Power-to ii. Domination

(c) Power-with iii. Enabling to solve

(d) Power- iv. Organising for
within community work

Codes :
@ ® © @

(A) i I v

(B) i i v [

(C) iii i i iv

(D) iv i i i

Assertion (A) : Entrepreneurship
among women in small scale
sector is gradually increasing.

Reason (R) : There is positive and
favourable environment in the
society for promoting
entrepreneurship among women.

Codes :

(A) Both (A) and (R) are true and (R)
is correct explanation for (A).

(B) Both (A) and (R) are true and
(R) is not correct explanation
for (A).

(C) Both (A) and (R) are false.

(D) (A)is false and (R) is true.

The National Commission for
Women has initiated ‘Mahila
Adhikar  Abhiyan’. Identify the
incorrect answer about the Abhiyan :

I. It seeks to empower Dalit and
Tribal Women only.

ii. It seeks to empower with
information about their
entitlements.

iii.  The campaign aims to empower
women of rural and remote
areas of the country about
various government schemes.

iv. This programme was
implemented exclusively in four
States viz., Rajasthan, Punjab,
Uttarakhand and Kerala.

Codes :

(A) i, iiiand iv only

(B) i, ii and iii only

(C) ionly

(D) ivandiionly

Paper-111
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41.

42.

43.

44,

45.

M.S. Rao distinguishes three levels
of structural changes in a social
movement.
(A) Revolution, Reformation and
Transformation
(B) Transformation,
and Revolution
(C) Reformation,
and Revolution
(D) Revolution, Evolution
Transformation

Reformation
Transformation

and

Gross Enrolement Ratio (GER) of
girls in Higher Education (2012) is

(A) 20.9 percent (B) 16.5 percent
(C) 18.8 percent (D) 17.4 percent

The demand for skilled workers in
which sector will be more by 2015 ?
(A) Auto Sector

(B) Construction Sector

(C) Health Care Sector

(D) Banking and Financial Services

Which factor is responsible for low
status of women in India ?

(A) Changes in the family system
(B) Female foeticide

(C) Patriarchal system for society
(D) Women liberation movement

Assertion (A) : Entrepreneurship
Development Training
Programmes are encouraging
women to start their own
enterprises.

Reason (R) : Many Institutions and
Organisations are imparting
Entrepreneurship Development
Training Programmes.

Codes :

(A) Both (A) and (R) are correct, (R)
is correct explanation of (A).

(B) (A) is false and (R) is correct
and (R) is not a correct
explanation of (A).

(C) Both (A) and (R) are false.

(D) (A) istrue and (R) is false.

S-74-13



38.

39.

40.

e — | T~
= - |
(a) 3T i SR
(b) whR i i, Wy
(c) wmfew wIferd i, THTEM A
(d) i it iv. SRS &
e

@ O () (@

(A) i I i v

(B) i i v [

(C) i i i iv

(D) iv i i i

AfWFY (A) : AfeeTeT W T ST
2_? & ° ST gia 9R-4UR 98 @

% (R) . Afgemetl § Smgta &
ST %WHHMWHSM%
3 FhRTcH TNEST ST §eT € |

e !

(A) (A)aﬁr(R)ﬁaﬁ%sﬁr(A)a%
(R) W&t =me

(B) (A)aﬁr(R)aﬁmz“r%sﬁr(A)a%
(R) Tt AR TRl & |

(C) (A) 3R (R) I TToid & |

(D) (A) 7o & 3R (R) W&l € |

T AfgeT ST 3 HiEeT 3TUsR
AN’ TR & | TF IMNEE & Gay
ﬁwwaﬁﬁ?ﬁﬁaﬁ%—m
TN o qeld 3 3iearr
g%waﬁiaﬁroﬁr{aﬁmaﬁﬂé
|

ii.  TOH A THERI & Hag H I
%Waﬁmaﬁnﬁ%

iii. MR HT YT fang=
Wrﬁ?ﬁamaﬁ%wﬁi’ﬂﬁ
T SR I &l Higestt
W ABRSAE |

iv. 9% HEHH A WX IS g
T, o7, STRIES 3R
T hraterd fohar T o

(A) e i, iii 3 iv
(B) e i, i i
(C) waeti

(D) et iv A ii

|| & At T
= - 1

A

[N

S-74-13
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41.

42.

43.

44,

45.

ec N v M o M 211 s | A o M
AT URaal H o odM & W
Tafr=ar i 391 &

(A) I, IR, TAROT

(B) ®URUI, GUR, I

(C) WUR, TR, i<

o o

(D) ShIf, SHIHe TR, TRl

TTSThal @ STIeR oI (2012) § wEU
AR ST (ST T 3R) &

(A) 20.99uded  (B) 16.5 Uiderd
(C) 18.8ufded (D) 17.4 Widerd

2015 T T &3 § FUICT HEAT H [T
e ?

(A) 3Tt &

(B) frwior &

(C) <ameed Qe &

(D) difer wa facita g

IRA § Afgenell ot = feafq & s
FEATE?

(A) IRER TFTa | aRaH

(B) == U1 BT

(C) TuTt =l Uk gran

(D) wfeer Hfsrt =rerT

Ao (A) : 3EH faw ufereror
Hasha [Edl i AU ST ITH
TR R 6 o0 Wieaned sl
T

% (R) ;T T 3T T
Sq foera uieTor Sk @t
TATRE |

(A) (A) 3R (R) T T&l &, (A) &I
(R) T&t AR T |

(B) (A) T € 3R (R) Wel €, (A) Bl
(R) T&l = @i € |

(C) (A) 3R (R) 3T ToAd & |

(D) (A) W&l & 3T (R) T & |
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46.

47.

48.

49.

50.

Percentage of Main Female Workers
to Total Workers (2011) is

(A) 59.6

(B) 65.1

(C) 547

(D) 78.4

Gender Parity Index at the Higher
Education Level (2012) is

(A) 1.01
(B) .99
(C) .79
(D) .86

The year 1961 in India is famous for

passing an Act for

(A) Banning Female Foeticide

(B) Prevention of Domestic
violence

(C) Prohibition of Dowry

(D) Stopping Child Marriage

Match List — I with List — 11 ;

List— 1 List— 11
(Leader) (Political Party)
(a) Jayalalitha i. Congress
(b) Mamta ii. TMC
Bannerjee

(c) Sonia Gandhi iii. BSP

(d) Mayawati iv. AIADMK
Codes :
@ (b (@© (@)
(A) iv i i i
(B) ii v i i
(C) i i ii iv
(D) i i iv [
Vulnerable women can protect

themselves from their HIV/AIDS
infected husbands by adopting which
one of the following ?

(A) Anti-Retroviral Therapy

(B) Injection Drug Use

(C) CD, Test

(D) Female Condom

Paper-111
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o1.

52.

53.

Match the List — | with List =11 :

List-1 List— 11
(Aims) (Movements)
(a) Fighting i. Chipko
alcoholism Movement
(b) Widow ii. Narmada
Remarriage Bachao
Movement
(c) Awareness iii. Anti-Arrack
on Forest Movement
Protection
(d) Rehabilitation iv. Social Reform
of displaced Movement
persons
Codes :
@ () () (d)
(A) i v i i
B) i i i iv
C) i v i i
(D) i i v

Percentage of rural female marginal
workers of total workers in India
(2011) is
(A) 41.8
(B) 60.5
(C) 694
(D) 444

What is the development agenda of

the Panches and Sarpanches to bring

change in India ?

(A) Nutrition, education,
water and employment

(B) Dowry problems, environment
issues and reproductive health

(C) Day care centres, old age
homes, orphanages

(D) Water, employment and power
supply

health,

S-74-13



46. FT HEA H TEI HAleel HEAT Hi
T &
(A) 59.6 (B) 65.1
(C) 54.7 (D) 78.4
47. ITEaR FmeT WX (2012) W forT S
ST €
(A) 1.01
(B) .99
(C) .79
(D) .86
48. WRA H 1961 1 a9 EOW UGg & fF
TH 9 U SAUTEH TG g o e
L= o
(A) =T T &1 Mg 9
(B) ey fear =l Ty @
(C) =T & fmua
(D) 9 foare = Ak 9
49. gt — | & 7RI H GA — || B AR F
a1 gaferd i
= - | =it - 1
(3 (AT o)
(@) STt i, g
(b) THT SST i, S TA A
(c) |fwr e i, & Ty 0
(d) =Rt iV.TAE TS &
FT
@@ () (¢ ()
(A v i i i
B) i v i i
€) @i i i v
() Qi i v i
50. TSI AEAd Mg § & &
o oy s T s af / usd
Gohtad Uil | ST 3T i o Tehell
3
(A) U REETEeT IUER
(B) TSR 39 T IUFNT
(C) it 2, wieT
(D) fwrEeT FHem
S-74-13
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51.

52.

53.

et — | BT G — || § GAfeAT BT

= - | =t - 1
(3293) (reierT)
(@) IWE@R T i. foue AReH

gESl)
(b) foeren faame i, wTwRT e
SR
(c) s | s iii. arel foiedt
i STTEehdr SR
(d) foenfua iv. T gER
At i 3R
RERSIEEI
FHT
(@ () () (d)
(A) Qi v i i
B) i i Qi v
() i iv i i
D) i i i v

YR % FA HEA (2011) H AHOT
e AT SHHa i Ui &

(A) 418

(B) 605

(C) 69.4

(D) 44.4

IRa | uRadT @ % fau 9= 3

T T T Tsivey =R € 2

(A) difteepdr, forem, @R, S SR
TSR

(B) &1 GHEE, UNERT THE 3R
T e

(C) faw @rea Tl &%, Jeil o,
T

(D) ST, ASTIR 3R Terstett awete
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54. Mark the correct answer about the
personal laws that govern women :

i.
ii.
iii.
Iv.

The Hindu Succession Act
The Maternity Benefit Act
Custody and Guardianship Act
Equal Remuneration Act

Codes :

(A)
(B)
(©)
(D)

55.  Which

i, it and iii only

i and iv only

I and iii only

i and iii only

has the

State highest

percentage of Women MPs ?

(A)
(B)
(©)
(D)

Uttar Pradesh
Maharashtra
Madhya Pradesh
West Bengal

access to education for

56. “Equal

women and girls will be ensured” —
this was stated in the

(A)
(B)

(€)
(D)

57. National

National Policy = — 1992

on Education
National Policy
for the
Empowerment
of Women
National Policy
of Education
National Adult
Education
Programme

- 2001

— 1986

- 1978

Adult Education

Programme is based on

(A)
(B)
(©)
(D)

Paper-111
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Mass approach
Area approach

Mass as well
approach
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58.

59.

Match List — I with List =11 :
List—1 List— 11

(@) RajivGandhi i. Ujjawala
Scheme for
Empowerment
of Adolescent
Girls

(b) Scheme for ii.
Women in
Difficult
Circumstances

(c) Scheme for
Prevention of
Trafficking and
Rescue,
Rehabilitation
and
Reintegration of
Victims of
Trafficking and
Commercial

SABLA

1. Swayam-
siddha

Sexual
Exploitation

(d) Holistic iv. Swadhar

Empowerment
of Women in a
sustainable
manner

Codes :

@ () (o ()
(A) i ii iv i
(B) ii v i iii
(C) i v i ii
(D) iv i i iii

First Indian Women to win a medal
in an Olympic event :

(A) Kiran Bedi

(B) Karnam Malleshwari
(C) Mc Mary Kom

(D) P.T.Usha
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54, eeTE A WA T A B

55.

56.

S7.

Y e 3T BT 957 HIT

i R STEsR stufEm

i, UG o tteEd

i, SRR U SR ST
iv. TEE Tt st

(A) Fa i, ii 3 i
(B) 3 i 3 iv
(C) Fae i 3 i
(D) e i 3 jii

9§ Oeer 99g 9e@r @

TRt Gad St & ?
(A) ST IR

(B) wewmTz

(C) == WY

(D) ufs=mt sreT

“migeTslt 3R wTefral & forw forem o

T I — Ig FHIA FEAfarad § |

foree emar g 2

(A) TEE el -

(B) g Hfee -
eTferieRoT Aife

(C) g fwemsifa -

(D) T<gEE e -
HTHH

1992
2001

1986
1978

T Tiig T sy s €
(A)  wHiteT ST

(B) SHUTE IUTTH

(C) &= 3urq

(D) SHYUTE TS AT SUNH

S-74-13
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58.

59.

el — | BT gt — || § gAferd ife ;
=t - | = - 1

OREERICH i SSeoeT
fopemt
ESNIESET]
ST

(b) i aRfera
Afge AT

(c) avamgt 3k
ISP ERICH
IIoT < 91
Afgerstt st
avamgtd e
3R =4,
Tf:@ﬂ'qq@ﬁT
T U1
el FT

(d) =T
HfgeTeT

i, UATAT

iii. s

iv. @Y

A i Qi v i
B) i v i i
©) iii v i i
O) iv Qi i i

AT Toll § Ueol Siiad arelt 9aH
ORI qigaeT

(A) Tor ot
(B) =TT HootweR
(C) ¥ ol %
(D) U2t
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60.

61.

62.

Assertion (A) : Female
improved at all
education.

Reason (R) : There is still a high
rate of SC/ST female drop outs
in school education.

Codes :

(A) Both (A) and (R) are true.

(B) (A)istrue and (R) is false.

(C) Both (A) and (R) are true and
(R) is the correct explanation of
(A).

(D) (A) is false and (R) is true.

literacy is
levels of

Assertion (A) : Sex discrimination
creates a pay gap for women

workers in the unorganised
sector.

Reason (R) : Employers  follow
the cultural beliefs of the
society and devalue women’s
work.

Codes :

(A) (A)istrue and (R) is false.

(B) Both (A) and (R) are false.

(C) (A)is false and (R) is true.

(D) Both (A) and (R) are true, (R)
is the correct explanation for
(A).

Assertion (A) : Documentation  of
sex-disaggregated data is
essential for women’s
development.

Reason (R) : Collection and
presentation of sex-
disaggregated data is not
necessary to prepare suitable
policies for women.

Codes :

(A) Both (A) and (R) are true and (R)
Is the correct explanation for (A).

(B) Both (A) and (R) are true and
(R) is not the correct
explanation of (A).

(C) Both (A) and (R) are false.

(D) (A) istrue and (R) is false.

Paper-111
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63.

64.

Assertion (A): In many of the
advertisements women’s body,
smile, curves are used only as

commodities to sell other
commodities.
Reason (R) : No doubt a bare

female body attracts but it is by
no means creative advertising.

Codes :

(A) (A)is false, (R) is true.

(B) (A)istrue, (R) is false.

(C) Both (A) and (R) are true and
(R) is not the correct
explanation for (A).

(D) Both (A) and (R) are false and
(R) is the correct explanation
for (A).

Assertion (A) : The phenomenon of
prostitution IS largely
concentrated in large cities.

Reason (R) : Women enter
prostitution to get relief from
economic distress, both
individual and familial.

Codes :

(A) Both (A) and (R) are wrong but
(R) is the explanation of (A).

(B) (A) is correct but (R) is wrong
and (R) is not the correct
explanation of (A).

(C) Both (A) and (R) are correct
and (R) is the correct
explanation of (A).

(D) (A) is wrong but (R) is correct
and (R) is not the correct
explanation of (A).

S-74-13



60.

61.

62.

Al (A) : Afeet wmeRar ot
T TR W GE T |

& (R) : fomert Toem A
STTge ST/ ST
el & foare sigd @
andt off wg U ¥ |

%

(A) (A) 3R (R) S W& € |

(B) (A) Wl g, (R) o ¢ |

(C) (A) &R (R) i Wl & &R (R),
(A) T T& AR E |

(D) (A)Tord & 3 (R) W&l & |

AHHYT (A) : ToTT 9= | TEied
g7 " ueen-wHal H dad o
3R AT T |

% (R) : USTIRGT |AT o
AR [Tk [oreaTdl o1 STH0T L
¢ ol fodl & w@ 1 e
FAE |

FT

(A) (A) T T 2R (R) T ¢ |

(B) (A) 3R (R) i Tord € |

(C) (A) Terd & 31X (R) W&t & |

(D) (A) 3R (R) I Wl €, (A) =
(R) el == & |

atfirpeE (A) : foal & oo & fow
AEE T |

% (R) - ferm Tt aepet At
THET B ST TR TRr Fea
el qifd @R s & fou
METTH Tal & |

(A) (A) 3R (R) THT W& & 31X (A) =t
(R) W&t AT T |

(B) (A) 3R (R) SHI Tel € 3T (A)
1 (R) T&t = T € |

(C) (A) 3R (R) 3T ToAd & |

(D) (A) W&l & 3T (R) Tod & |
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63.

64.

afirped (A) : oS famoEt §OAR-
3, YEh qT d5hl 1 qUT TSI
% ®9 H SUANT 3T qUg TSIt
s o forg fepan o @ &

& (R) D TOH WeE R e
IR IE BT FA & W] T

G fasiaehel &1 & |

(A) (A) T g, (R) &€ |

(B) (A)TE T, (R) o € |

(C) (A) T (R) sHi W&l & @2 (R),
(A) T el TETHT Tl & |

(D) (A) @@ (R) i TTerd & 71 (R),
(A) FT Tel TILTHT T |

AfuHET (A) : AvIFG H I g
T TR T Higd & |

& (R) et T oiReRe
3Tk Tehel | T&d U e
foTT Afeed avargd | JarsT St
T

(A)  (A) 3R (R) SHI Tord & W] (A)
1 (R) el Am&T & |
(B) (A) W & W= (R) Told § 3R
(A) & (R) T =R &l & |
(C) (A) 3 (R) =+ Wl & 3fi¥ (A)
i (R) W&l =AM & |
(D) (A) T & W (R) Tl § 3T
(A) = (R) W&l =amen F&l |
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65.

66.

67.

Assertion (A) : Everyday thousands
of women and teenaged girls in

India become victims of
trafficking.
Reason (R) : Rural women and

girls are under the grip of large
scale unemployment, poverty
and dowry demand.

Codes :

(A) (R)is false and (A) is correct.

(B) Both (A) and (R) are correct
and (R) is the correct
explanation for (A).

(C) Both (A) and (R) are false.

(D) Both (A) and (R) are correct
and (R) is not the correct
explanation for (A).

SEWA was started in
(A) 1977
(B) 1972
(C) 1970
(D) 1971

Assertion (A) : One of the reasons
for honour killing is inter-caste
and inter-religious marriage.

Reason (R) : Women and men
willing to marry beyond own
caste and religion are to be
discouraged.

Codes :

(A) (A) is true, (R) is false and (R)
IS not the correct explanation
for (A).

(B) (A) is false, (R) is true and (R)
is the correct explanation for
(A).

(C) Both (A) and (R) are true and
(R) is not the correct
explanation for (A).

(D) Both (A) and (R) are false.
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68.

69.

70.

71.

Dalit women face triple

discrimination. ldentify the correct

one.

(A) Economic, social and political
status

(B) Caste, class and gender status

(C) Religion, caste and political
status

(D) Ethnic, communal and political
status

Which of the following is an agency
of socialization ?

(A) Social stratification

(B) Society

(C) Family

(D) Community

Which  Report  highlights  the

persistent gap between women’s

expanding capabilities and limited

opportunities ?

(A) Concept and Measurement of
Human Development, 1990

(B) Global Dimension of Human
Development, 1992

(C) Gender and
Development, 1995

(D) Globalisation with a Human
Face, 1999

Human

The members of the Justice J.S.

Verma Committee constituted by the

Government of India were

(A) Justice J.S. Verma, Justice
Sujata Manohar and Justice
Leila Seth

(B) Justice J.S. Verma, Justice
Krishna lyer and Justice Sujata
Manohar

(C) Justice Fatima Beevi, Justice
Leila Seth and Justice J.S.

Verma
(D) Justice J.S. Verma, Justice
Leila Seth and  Gopal
Subramanium
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65.

66.

67.

AHYA (A) : 9RA H WA gSIRI
T BIelt € |

% (R) fl’icz1 1) SR 05| Lol
ARl I T 0 ISR, TRis
X S&ST ! HiT W TS gg € |

FT:

(A) (R) 7o & 3R (A) T&l & |

(B) (A) R (R) i Wl & &R (R),
(A) = TE A E |

(C) (A) 3R (R) 3T ToAd & |

(D) (A) &R (R) i Wl & &R (R),
(A) = TE AT TEE |

T (SEWA) o5 o & UReT 361 778 2
(A) 1977
(B) 1972
(C) 1970
(D) 1971

afpe (A) : AR THem #H TH
HRUT AT SR i
e § |

% (R) D O S SR gd o
IR TaaE FH & TTgeh Afeenslt
STET |

(A) (A) W&, (R) T & 3R (R),
(A) =l TEl = FE T |

(B) (A) o &, (R) Wl & 3N (R),
(A) = TE A E |

(C) (A) ¥R (R) sHi Wl & &1 (R),
(A) =l TEl = FE € |

(D) (A) 3R (R) 3 Totd & |
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68.

69.

70.

71.

gford feml & e SevE wed e

Tl & | frefefea § 9 @@t SwW oA

T T ;

(A) oTfép, |ISTE 3T TSI
feafa

(B) T, &t 3R fort ferfa

(C) uH, Sfq 3fiX ToHitaes fefa

-~

(D) T, TRIEE SR TSI

T

fefafgd § ¥ S TSI Hl T
TSTH & ?

(A) TR TR

(B) @

(C) wRaR

(D) @™

frfafea 7 & fog i 9 afeenstt =t

Tl g &S A HiHd TRl T

SR fear & 2

(A) HUE W WRAS 3NF A
ST, 1990

(B) T  SEHIM

SIATHE, 1992
(C) Siex Uvg gEA Saetune, 1995

(D) Tl for T FEA A,
1999

A e

YRAT THR R Ted =Aramfa <1,
I HH & IIF o

(A) SFed STq. adl, SIRed g
TR 3R AR el ¥

(B) Sied® wud. oHi, SRed FO
3R 3T SR GTT A eT

(C) e wfamr e, Sied oo
Y2 3R Sy S.ug, I|

(D) SIed S.ud. adi, Sfed el ¥

TYTeA QQ{IH(I\"MH
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Read the passage and answer the following
questions (Questions 72 to 75) :

The politics of language has played an
important role in  promoting and
strengthening the subordination of women,
especially in highly stratified societies. In
India, the virtual invisibility of women in
Social Science literature, agricultural
Sciences/Economics as well as national
planning and the educational process could
certainly be traced to the gradual
disappearance (from non-use ?) of a
feminine form in the word for peasants in
different Indian languages — when such
forms continued for all the traditional
artisanal or service sector occupations
(barber, weaver etc.) The loss of this
vocabulary is symptomatic of the processes
unleashed in colonial India. It is well-
known that agricultural surplus was the
primary source of ‘revenue’ earning in
colonial India. The marginalisation of
women in the “official” records of the
Department of Revenue and Agriculture
highlights the “erasure” of women from the
most visible domain of economic activity
and the patriarchal bias that went into the
casting of the Indian peasant as male.
Contradictorily, the Indian  Census
recorded decade after decade that the
largest numbers of women workers were in
agriculture, sometimes outnumbering men
in the category of landless agricultural

labourers. Terms like gender-
gap/disparities, gender-mainstreaming
reflect a lack of understanding that

subordination of women has been an
advancing process historically : a dynamic
that is by no means over for all. To suggest
that all that is required is for women to
catch up with men is to ignore or underplay
the transformative role of the ideology and
agenda of the “Gender Revolution” of the
twentieth century. In other regions, such
criticisms came from women’s
organisations, occasionally from under-
resourced and ill-equipped State agencies
(for example Commissions) - who
complained of their status as unwanted
children by the mainstream of governance.

72.

73.

74.

75.
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The marginalization of women in the
‘official’ records of the Department
of Revenue and Agriculture is due to
(A) Patriarchal bias in the existing

vocabulary.
(B) Gender disparities
(C) Gender bias in women’s

organizations
(D) Status of women as unwanted
children.

Invisibility of women in national

planning is due to

(A) Largely women
unpaid work.

(B) Women are landless labourers.

(C) Women only do the supportive
work for men.

(D) The lack of feminine vocabulary
for women’s occupations.

indulge in

“The subordination of women has been
an advancing process historically”
cannot be understood by the terms like
I. Gender Gap

ii.  Gender Disparities

iii.  Gender Mainstreaming

iv.  Gender Revolution

Codes :

(A) iii&ivonly (B) i,ii,iii &iv
(C) i&iionly (D) ii,iiionly
Assertion (A): The  politics  of

language has promoted and
strengthened the subordination
of women in stratified societies.

Reason (R) : Large number of
women workers have been in
the category of landless
agricultural labourers.

Codes :

(A) Both (A) and (R) are correct and
(R) is the correct explanation of (A).

(B) (A) is correct but (R) is wrong
and (R) is not the correct
explanation of (A).

(C) Both (A) and (R) are correct
and (R) is not the correct
explanation of (A).

(D) Both (A) and (R) are wrong
and (R) is the correct
explanation of (A).
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T TR I Ui IR et ueer (o9 72
¥ 75) ol I ST

T Bt TSI = ATRET Sl WA=l 6l 98
3 HgE Y | Hewqor i e € 1 v
forRIoaT 3= WA TAE | g7 & | 9Rd |
AR Wt FUE 21T hi AT foRTe Aiied,
P T, SR & WY WY AL ST
3T viferh wishamsti o fAfved & § ggr
o € T T/ & fou e & wrgarE
STty v A TRAF Jmne ¥ €iR-
U9 v ORI Rieq arerer Qar-as & gl
T AE, ARl TS & fow T v FReR
e H W § | 3H YK WUSR & | BT
IUFERT WA o1 UHATell Sl Saed € | TE
wafafea & foF $ e sufesht wwa 4
qorE’ AfSId R T WA 9re| ar |
TS U9 P o & CWERr” Rere o
Al g N ohar & &5 | TR &1 A9
o= fife™ @ S8 ARt % HiFieor ®i 3
W SH SR Ukl STUIRT T F RS
TR B! haet ‘&’ ST {5 | faRreTenshaa,
TRAT STHEET = T T T8 IS (6 foh
3Rd el 9Rt et & $T wH € | F 9%
3t FTet el fohamt ot Sife & &
et geul Bt T F off S ST € 1 AT
reifiTer-3r, Wit gegam S o
TOE ® FHH P IO & 5 AR Bl GET
Iferfas w9 & 9 W OURAT € ;. S U
e e B B ol el e e T
¥ | 7 gemE 3 o AR 9 F aiferd & b aw
AT IR § TH o SR UgH ST TG
el WEl & “AliTeR i & fagrar S
TSUE o UREHRR! iR SASET HAT
AT HH SHAT BN | T & H oUW
T U AU FH-AG  TSEAT S 3T
AN H AT H JAURT FRT 3R F=ai
% HY G €, S3TE Il © |

72.

73.

74.

75.
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ToTES e P o o R Rehre |

ART T GIHTATR0T 29 HROT F &

(A) HISET & WUeR H Ughar ol
T&4ra

(B) ferm-fafirar

(C) R Tt | fort =t ustara

(D) R Seat % 99 AR A et

TR AT § ARl 3TGIAAT 39 HROT

qE

(A) 3R AIRAT T BB
 IoTel WAl ¢ |

(B) 3R e FoIgR € |

(C) 3R Hact Toul & TEDH-HA
FIAE |

(D) TR & € & forw wifer S
I YUSR 1 HAT |

S B WAl gfaefas ' & 98 W
uikan & T 1 wIsst @ @1 |wem S
Hepel

i e

i, TorT-=an

iii.  for-goram

iv. fomseita

&

(A) e iii ARV (B) i, i, iii 37 iv

(C) ot i 3R ii

AfHY (A) TR GEST H 9T 6
oA F AR S WA=dr
ST 3R Gge HA T |

% (R) g et o B
firelt el aifgent =6t =ife o @
g1

FT:

(A) (A) 3R (R) IHT Tt & 3 (A) Ff
(R) W&t =A@ € |

(B) (A) @& & W= (R) Toid § 3T
(A) = (R) T&t =are 781 € |

(C) (A) 3iX (R) SH! el & 3R (A)
T (R) el =T Fel € |

(D) (A) 3R (R) HI Tord & 3R (A)
& (R) T&l = € |
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